CTET L1 English L2 Hindi P1

Topic:- CDP_P1_CTET

1) Principle of '‘cephalocaudal’ suggests that development

(1) proceeds from centre to outward
(2) proceeds from head to toe
(3) occurs at same rate among all individuals

(4) is a coaction of nature and environment
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[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_105_Q1]

1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) Which of the following is a hereditary factor which influences development ?

(1) Social policies

(2) Educational institutions
(3) Biological maturation
(4) Cultural practices
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[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_105_Q2]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]



3) Which of the following is the primary agent of socialization for very young children ?
(1) Books
(2) Cinema
(3) Parents’ workplace
(4) Family

T Gle A=A1 6 (o0 75T § 5 F17-H7 FTHS Ch0r 50 T Te4q7 2 ?

(1) FraTa
(2) fErem
(3) FTET-FoaT FT FTEIT
(4) uframe

[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_105_Q3]
1 [Option ID = 9]

2 [Option ID = 10]

3 [Option ID = 11]

4 [Option ID = 12]
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4) According to Jean Piaget's theory of cognitive development, most children become capable to
think logically about concrete problems at stage.

(1) Sensorimotor
(2
(
(

)

) Preoperational

3) Concrete operational
)

4) Formal operational
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[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_105_Q4]
1 [Option ID = 13]
2 [Option ID = 14]

. 3 [Option ID = 15]
. 4 [Option ID = 16]

A w N =

5) According to Jean Piaget, the combining, arranging, recombining and rearranging of
behaviours and thoughts into coherent systems is called

(1) disequilibration

)
(2) conceptualisation
3) organisation

)

(
(4) misconception
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[Question ID = 5][Question Description = CTET_P1_PART_1_CDP_SET_105_Q5]

1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]
6) Lev Vygotsky gave significant importance to in development of thinking and
learning.
(1) Rewards and punishments
(2) Cultural tools
(3) Same ability-based groupings
(4) Advance organisers
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[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_105_Q6]
1 [Option ID = 21]
2 [Option ID = 22]

. 3 [Option ID = 23]
4 [Option ID = 24]
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7) In Lev Vygotsky's theory, the strategy of 'simplifying questions, giving cues and telling initial
steps to solve a question helps them in overcoming the obstacles of solving a given guestion’

is referred to as :
(1) Scaffolding
(2) Analogy

(3) Maturation
(4) Socialisation



o AT & (Hgid | ag e ‘o srgariaesr F=nfSay & ©rm aarat #1
LA 20 FIAL 2, Ire Ahd 391 g AT FATA Wl gef Hoel & AT F207 11
T AT T =7 T2 THET & THIGT H7 Gred § AT AT aTanst #r I T AF

AT FHgardl g ?
()T

(2) =TT
(3) FreT=aaT
(4) TETSERT

[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_105_Q7]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8) Lawrence Kohlberg evaluated the among children and adulis.

(1) impact of praise on emotions
(2) factors influencing physical development
(3) development of moral reasoning

(4) course of emotional development
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[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_105_Q8]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9) Which of the following aspect should be promoted by a teacher among her students ?

(1) Passive imitation
(2) Rote memorisation
(3) Knowledge construction

(4) High competition
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[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_105_Q9]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10) As per recent conceptualisation of intelligence, Intelligence Quotient (IQ) tests are not
appropriate to assess an individual's intelligence because they are often

(1) valid

(2) reliable

(3) culturally biased
)

(4) comprehensive
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[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_105_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11) Language and thought :

(1) interact in many significant ways
(2) develop independent of each other
(3) have no influence on an individual's development

(4) interact only in a fixed and uniform way



qTHT T =791
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[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_105_Q11]
1 [Option ID = 41]
2 [Option ID = 42]
3 [Option ID = 43]
. 4 [Option ID = 44]

A wN =

12) Around what age do children generally get an initial sense of gender roles ?
(1) 4 years
(2) 10 years
(3) 14 years
(4) 18 years

TR 56 S F SH-TTH, I T4 § SeT GHenT 0 T Hh THH A A

?

(1)4 CL)

(2) 10 9

(3) 14 a9

(4) 18 T
[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_105_Q12]
1 [Option ID = 45]
2 [Option ID = 46]

. 3 [Option ID = 47]
4 [Option ID = 48]
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13) To promote inclusion in education, a teacher should create a class environment which

(1) nurtures acceptance of diversity

(2)

(3) nurtures entity belief about ability
)

(4) promotes competitive feeling among students

promotes stereotypes and labelling
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[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_105_Q13]
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1 [Option ID = 49]
2 [Option ID = 50]

. 3 [Option ID = 51]
. 4 [Option ID = 52]

14) To utilise assessment as ‘Assessment for learning,’ it should be done mainly :

(1) as an on-going activity

(2) after completion of half syllabus
(3) at end of the session only

(4) at beginning of the session only
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[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_105_Q14]

1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15) Which of the following questions will be helpful in promoting critical thinking among students ?

(1) What is the formula of (a+b)” ?

(2) Who was India’s first President ?

(3) How can we avoid water crisis in future ?

(4) On which date is Children's Day celebrated ?
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[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_105_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16) For successful inclusion of students belonging to disadvantaged groups, it is important to

(1) teach them in a separate section only.
(2) promote sense of belonging among them.
(3) ignore the social-cultural context of these students.

(4) make tuition-taking after school compulsory for them.
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[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_105_Q16]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]

3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17) Students with Dyscalculia are likely to face challenge in

(1) Mathematics
(2) Singing

(3) Running

(4) Drawing
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(4) =

[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_105_Q17]
1. 1 [Option ID = 65]



2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) Which of the following provisions becomes a barrier for inclusion of students with visual
impairment ?
(1) Braille books
(2) Tactile maps
(3) Assistance of scribe
)

(4) Written exams
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[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_105_Q18]
1 [Option ID = 69]
2 [Option ID = 70]

. 3 [Option ID = 71]
. 4 [Option ID = 72]
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19) Which of the following is a typical characteristic of students with Autism ?

(1) Repetitive behaviour

(2) Cognitive flexibility

(3) High communicable skills

(4) Urge for frequent changes in routine
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[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_105_Q19]
1 [Option ID = 73]
2 [Option ID = 74]
. 3 [Option ID = 75]
. 4 [Option ID = 76]

A wWN =



20) Reshma started to read independently at the age of 3 and has read every book she could get
her hands on. Reshma is showing characteristics of

(1) Autism
(2) Giftedness

(3) Dyslexia

(4) Intellectual disability
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[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_105_Q20]
1. 1 [Option ID = 77]

2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) Children learn best by

(1) Guided discovery
(2) Drill and practice
(3) Passive imitation

(4) Rote memorisation
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[Question ID = 21][Question Description = CTET_P1_PART_1_CDP_SET_105_Q21]

1
2
3.
4

. 1 [Option ID = 81]
. 2 [Option ID = 82]
3 [Option ID = 83]
. 4 [Option ID = 84]



22) Assertion (A) : School should emphasize on mere reproduction of materials learned.
Reason (R) : Memory is neither constructive nor interpretative.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.
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1[Q:J?Sti9n III; =8?5]2][Question Description = CTET_P1_PART_1_CDP_SET_105_Q22]

2. 2 [Option ID = 86]

3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) A teacher should design and transact learning activities which are
(1) very abstract in nature
(2) in sync with students’ interest
(3) alien and foreign to students’ context

(4) aimed at mere reproduction of previous knowledge
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[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_105_Q23]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]



24) In order to maximise students’ engagement in learning process, a teacher should

(1) minimise autonomy of students
(2) maximise distractions
(3) minimise individual choices

(4) maximise authenticity of task

srferTy whkar F fEr=nfaat it dowar 1 atastas 799 o vs gt
T 3T FIAT FAT8 T ?
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[Question ID = 24][Question Description = CTET_P1_PART_1_CDP_SET_105_Q24]

2 lopion D 94

1
2
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25) A general strategy that might lead to solution of a given problem is called

(1) Mnemonics

(2) Functional fixedness
(3) Response set

(4) Heuristics

T AT A6 ST & T2 THET F FHE aF% Tgad J qIEA 2 @Al g,

Fgaral g |
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(2) T e

(3) ST =T
(4) AT 7T

[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_105_Q25]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

26) Alternative conceptions carried by students

(1) serve no purpose in process of learning.
(2) are purely illogical and irrational.
(3) represent students’ 'naive’ theories.

(4) should be absolutely ignored by the teacher.
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[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_105_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]
27) Learning is
(1) significantly influenced by emotions.
(2) not influenced by emotions.
(3) rarely influenced by social context.

(4) not influenced by social context.

afenT

(1) T | HETA 00 =T F AT 2aT1 2 |

(2) HATT T FHIAT A2l grav g |

(3) FTHTIST HEH 7 HHT HATT TATAT Zrav g |

(4) FTHTTS |29 F w7 TAqTET T8 2ar g |
[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_105_Q27]
. 1 [Option ID = 105]

. 2 [Option ID = 106]

1
2

3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28) Assertion (A) : A teacher should motivate students to learn for understanding the concept.
Reason (R) : Learning is more effective and meaningful when it is mastery oriented.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) both (A) and (R) are false.



FAT (A) : TF FLATF 0T =T w  59eq T B 99 9 & o afge
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(1) (A) &I (R) 11 | € AT (R), (A) #T HT =TT Fa7 2 |
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1[Q1L1¢[e;ti9n |I|[)) =1%)§]][Question Description = CTET_P1_PART_1_CDP_SET_105_Q28]
2. 2 [Option ID = 110]

3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29) Which of the following factor hinders learning among students 7

(1) Playful interaction with environment
(2) Self-motivated practice
(3) Urge to know and discover

(4) Rigid and inflexible curriculum

7= 5 | F -7 F1e =it F Af2es |/ qves a9 qen g ?
(1) ATATAZTIT | TATATIAF/AZS qTEeaiean AT

(2) F-ATaa T A

(3) SITH 1T G T 1 =78

(4) FEIT AT ATH TT5THH

[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_105_Q29]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) Being cognizant of one’s own cognitive processes is referred to as

(1) Memorisation

(2) Accommodation
(3) Metacognition
(4) Delayed imitation



FTAT T T FAA T TAATA T AT g7 FAT Fgearar g ?

(1) =feem
(2) TS
(3) T
(4) Tt st

[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_105_Q30]
1 [Option ID = 117]
2 [Option ID = 118]
3 [Option ID = 119]
. 4 [Option ID = 120]

A wN =

Topic:- MATH_Q31-45_P1_CTET
1) Without repeating the digits 0, 3 and 5, how many different three digit numbers can be formed
using these three digits ?

(M1
2)
)
)

—

3
(4

ST 0, 3 & 5 A qwEar 0 @, =7 &7 &1 F Swnr 7, Jt7 dF0 A

(1)1

(2)2

(3)3

(4)4
[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]

3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

—
oW N

2) In the number 10467, which digit has the highest place value ?
M7
(2)6
(3)1
(4)4



HEAT 10467 |, 3T @i w1 AferFad $I=g 919 g ?

(7
(2)6
(3) 1
(4)4

[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q32]

1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3) 20 litres of milk was divided equally among all students of a school. If each student got EI litre
of milk, then number of students in the school was :

(1)180

(2)82

(3)80

(4)100

20 otex 3 1 BT =5 F 7| et o gae = F f@Aqta thr 1w
% weiren et 7  #feT 30 9T gar, A7 9 w5 § i iy e o

(1) 180
(2) 82
(3) 80
(4) 100

[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q33]

1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

4) How many twin primes are there between 1 and 50 7



1 &rT 50 F &= | T qa9sT T g ?

(1)
(2)6
(3)3
(4)4

[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q34]

1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5) The product of a proper fraction and an improper fraction is :

(1) greater than both proper fraction and improper fraction
(2) less than both proper fraction and improper fraction
(3) greater than proper fraction and less than improper fraction

(4) less than proper fraction and greater than improper fraction

T I (9w T U AU = &1 qoree
()sET =i A e S T aeTgar g
(2) 3t=a tae & s {9 S T GergErg
(3) 3= fo= & s=T grar ¢ T By fa=m A g gar g
(4) St=a Ta=1 & e grar g aar Fus = T aSTgar g
[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

6) The sum of the greatest and smallest numbers of four digits is :

(1) 8999
(2) 10999
(3)11110
(4) 11111

=TT AT AT ATAFAT AT qATH HEATA FT TR ¢ -

(1) 8999
(2) 10999
(3) 11110
(4) 11111

[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q36]
1. 1 [Option ID = 141]



2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7) Number of lines that can be drawn through a point is :
(1) Two
(2) Four
(3) Ten
(4) Infinitely many

e &g 7 ZrRT FI=AT ST T AT 1 el T JEAn g

(H=r

(2) =TT

(3) ==

(4) s =7 &7 s

[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q37]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8) What is the shape of each face of a cube ?
(1) Rectangle
(2) Triangle
(3) Sguare
(4) Pentagon

T B 2T oo Fersh (36 AT AT ZAT 8 2

(1)

(2) Prg=r
()=

(4) RER:E]
[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q38]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

2
9 27 of aright angle is equal to

(1) 180°
(2) 200°
(3) 210°
(4) 240°



22 FHFHT FITET E

(1)180°

(2) 200+

(3)210°

(4)240-
[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q39]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]

3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) A scooter travelled 67 km 8 hm 4 dam in one month and 48 km 8 dam 7 m in the second
month. How much more distance did it travel in the first month than the second month ?
()19km7 hm3dam 3 m
(2) 20 km 8 hm 6 dam
(3)20km9hm 8dam4 m
@ 15kmShm7dam S m

T =7 7 95«1 H1g § 67 km 8 hm 4 dam =7 T 77 T 47 TAT 915 # 48
km 8 dam 7 m T 1 99 #il | AL HIE A AT H 94 Ugel 71 H Tohet g0
arfers a7 F1 ?

(1)19km 7 hm 5 dam 3 m
(2) 20 km 8 hm 6 dam

(3)20 km 9 hm 8 dam 4 m
(4)15km 9hm 7 dam S m

[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q40]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11) In a school, the students started studying at 10:10 a.m. and recess was at 12:35 p.m. What
was the study time up torecess ?
(1) 2 hours 35 minutes
(2
(3

(4) 3 hours 45 minutes

2 hours 40 minutes

2 hours 45 minutes

)
)
)
)



et =per | fA=nia =1 @2r99 10:10 a.m. 97 WTEH g1 9947 12:55 p.m. 97
TETAFTN TEF AT | HLTAHT T FLTIT THT b1 g7 ?

(1) 2 == 35 fir=
(2) 2 5= 40 Tz
(3) 2 5= 45 fa=
(4) 3 5% 45 fimz

[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q41]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12) Four identical squares are joined together to form a rectangle whose area is 256 sq units. What
is the perimeter of each square ?

(1) 24 units
(2) 32 units
(3) 40 units
(4) 16 units

FTT HAAT AT T AATeT 256 A THTEA1 T TH AAT AT 6 (10 SIST JAT &
| JeTe AT &1 I T E ?

(1) 24 ZTE
(2) 32 THTE
(3) 40 THTE
(4) 16 TTE

[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13) What will be the next statement in the following pattern ?
1+3=4,
3+6=9,
6+ 10 = 186,
+ =

(M 7+17=24
(2)8+17 =25
(3)10+ 15=25
(4)10 + 14 = 24



FeAforiad T2d T RTaT F297 FAT AT 2
1+3=4,
3+6=09,
6+ 10 =16,
-+ =

(1)7 +17 =24
(2)8 +17 =25
(3)10 + 15= 25
(4)10 + 14 = 24

[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]

3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14) In the “tally marks” representation, which of the following correctly represents 9 observations 7

O |
@MNJ 1]
G MY N
ANNRNRNRN

T e R #§, ffefes § & F-a1 9 St 3 7t =7 7 =g
FTATE ?

(1) M

2 M T

3y M TN

@M

[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q44]

1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

15) The mean of the first ten even natural numbers is
(1)10
(2)11
(3)12
(4) 20



TIH 10 T ITH AT FT AT

(1)10
(2)11
(3)12
(4) 20

[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q45]
1 [Option ID = 177]
. 2 [Option ID = 178]
3 [Option ID = 179]
. 4 [Option ID = 180]

A wN =

Topic:- MATH_Q46-60_P1_CTET

1) Harman, a class-V student can describe the properties of a square but is not able to explain
the relationship between squares, rectangles and parallelograms. Harman is at which level of
thinking as per Van-Hiele Theory of Geometric thinking ?

(1) Visualisation
(2) Abstraction
(3) Deduction
(4) Analysis

FAT-V FT TF G, gOOF, TF T30 % 07 FHAT 747 ¢ e A0, A4t 0F
HHTGT TS & a1 F FAET F 2T 781 F7 6T | A7-g0 F SATH A =
+ fgia % aqere gt R ¥ e smr e g 2

(1) 3o

(2) HErd T

(3) s

(4) FEredram

[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q46]
1 [Option ID = 181]
2 [Option ID = 182]
3 [Option ID = 183]
. 4 [Option ID = 184]

A w N =



2) Which of the following are mostly utilised to establish mathematical truths ?
A.  Experimentation
B. Verification
C. Logical reasoning
D. Postulates
Options :
(1)A,BandC
(2) Only B
(3)A,CandD
(4)CandD

L e B s = O 2 B ) 2 B e 7 = 1 s e T - O e 2 s R T

?

El
A

A, TIRT F
B. 9ATIH FT
C. o= fFa=T &
D. afSRrgtat =1
IEETE
(1A, B C
(2) %9 B
(3)A, CH#=D
(4)C =D
[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q47]
1 [Option ID = 185]
2 [Option ID = 186]

3 [Option ID = 187]
4 [Option ID = 188]

A wWN =

3) Which among the following is/are helpful in developing aesthetic values while learning
mathematics ?
A. Providing students with opportunities to solve more problems.
B. Exploring the use of mathematics in various arts, architecture and rangolis.
C. Providing opportunities to students to formulate their own questions and
Investigate mathematical situations in their surroundings.
Choose the correct options :

(1)Aand B
(2)Aand C
(3)Band C
(4)only B



Reaferfea & & Fa-aya Tioe w1 A8 F7q g /A o GOt § AH 6
foro wgTa= 28 2
A. =T &t afes qodT 1 g F9 % AT T2 HieAT |
B. MW= =Femadl, A= T Wiifadt § T F I0FRT
e TOT FHIAT |
C. Taenft #r 39 arm-ure it e et £ s 50 o
O FEE F AT AT ATAL TIH FHLAT |
el fAFeT F1 =777 FST

(1)Asf=B

(2)AdTC

(3)yB&TC

(4) %3 B
[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q48]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]

3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

4) Individuals are assessed by comparing their performance or score against their own previous
performance or scorein
(1
(2
(3
(4

Benchmark Assessment
Ipsative Assessment

Criterion-Referenced Assessment

T o e aa®

Norm-Referenced Assessment

FITRAT &7 396 =4 & Oz Y99 TT THhiT F 79 3704 T899 I7 dHT 6
qAAT FT STAT 3
(1) SHHTE ATFAT H
(2) T=afed drsheT §
(3) ATFEE-HIA 9T AT H
(4) TTHTT-HETET AT 5
[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q49]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]

3. 3 [Option ID = 195]
4. 4 [Option ID = 196]



5) Which among the following is/are major aim/aims at introducing shapes in primary level
mathematics ?
A. To develop visualisation skill.
B. To develop spatial reasoning skill.
C. To memorize the names of the shapes.
Choose the correct option :

(1) Only A
(2)Aand B

(3)Only B

(4)Band C
ﬁlﬁﬁﬁ?ﬁﬁ'ﬁ?—ﬂﬂdﬁ?ﬁ?%ﬁﬁﬁﬂ@ﬁﬁﬁ?ﬁ?ﬂmﬁﬁw
2T BT AR 22 ?

A. gatﬁmmaﬁsmmﬁiﬁm

B. fE=reame "ot @a=m e #r A

C. WTFaT = AT I1% FHoeT
el fAFeT 1 337 e

(1) 3T A
(2)A T B
(3) %= B
(4)B T C

[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q50]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]
6) Which of the following items are a necessary component(s) of a resource room for primary
school mathematics teaching and learning ?
A. Charts, books and multiplication tables
B. Stationery items like pen, pencil, ruler, etc.
C. Concrete teaching-learning material like ganitmala, tangrams, 3D-shapes,
geoboards, blocks, tiles, etc.

D. Catalogues, teacher journals, and other reading materials for teachers

1)Only C
2)Aand B
3)AandC

(
(
(
(4)A,Cand D



ITEHAT Tt T foreor vA i g Metotad 8 F Sia-H1 aegEega 51

HHETET T F 2T ATT9TF g ?

A. =T, Ted &% o1 A0

B. A< a%qU S, U, UfHer, F7, TR

D. &=, foras afd aur few/fafesss 5 e 29 &=
CIEIDE

(1) =7 C

(2)AFTB

(3)AFTC

(4)A, C#HTD
[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q51]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]

3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

7) A class-V student can recognize and group different geometrical shapes according to their
properties and attributes. Which of the following cognitive skills most appropriately helps the
child to complete the above task ?

(1) Induction

(2) Decomposition
(3) Reversibility
(4) Classification

FeAT-V F1 UF F=medt A s smpfaan 1 g on e Femare
HATATE TgAE TFdT 2 AT FHg 00 FT TFa1 g | Wearertad § |/ #rd-a7
AT T Taied S99F ©F ¥ 959 % U4 M &l T F77 F
(1) ARTHT
(2) ATIEA
(3) S oirTar
(4) 7Tt
[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q52]
e

3. 3 [Option ID = 207]
4. 4 [Option ID = 208]




8) Which among the following is the most appropriate activity for teaching the concept of money
in daily life to primary class students 7
A. Organising a role play
B. Visiting a nearby market
C. Teaching the rules of conversion for different types of money
D. Using an algorithm
Choose the correct option :
(1)Aand B
(2)Only C
(3)CandD
(4)Band D

Fetoriaa § 7 F=-a7 Ty, arafas s & Feniaa frefs SEa o
TR AT = foveqn & forw waifers sog+ g 2
A. e fag T Fer

B. @HIT % ATSATE 9T %
C. fafaw= ware % qz7 aftaay & fFast & e g

D. FAA-TaTe T STANT FHiLAT
gl fAFeT 1 577 ffe

(1)A &7 B
(2) % C
(3)C &= D
(4)B &7 D

[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q53]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

9) Which of the following(s) is/are negation of the statement ‘All triangles are equilateral triangles

?
A. ltis false that all triangles are equilateral triangles.

B. There exists a triangle which is not an equilateral triangle.

C. All equilateral triangles are triangles.

(1)Aand B
(2) Only C
(3) Only B
(4)Aand C



fAeAteTiad § § F9-a7/F 99 T9] Bre agarg s 2 % Hug 212 2
A. T2 e 2 T FT e JHerg He

B. T e HIE § W U wHeg By €

C. | #HaTg B, s 2 |

(1)A 4B
(2) A C
(3) ¥ B
@) AT C

[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

10) A child states that : "If line AB is shorter than line CD and line CD is shorter than line EF, then

line AB will be shorter than line EF."”
Which property of measurement is being referred here ?

(1) Associative Property
(2) Commutative Property
(3) Transitive Property

(4) Conservative Property

T FATTerhT 2= FiTd( g ; “Ifs ¥&r AB &1 CD # Siél § & <@ CD ¥@r EF
o el g, 79 @1 AB ¥@ET EF & T g6 |7
AT 5 FIA-H [UEH T T2{ Jeord BT 747 g ?

(1) A=Y orer
(2) FRATHET ToTeE
(3) HATIHAT TOTEH
(4) FTEAoT UTE

[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q55]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]



11) Which of the following is an example of play-way method of teaching counting and concept of
number to children of grade | ?

(1) Teacher taking children to playground and making them recite numbers.

(2) Allowing children to play freely as it may promote knowledge of numbers and counting
skills.

(3) Teacher using concrete materials like pebbles, tokens, beads and allowing children to play
with these in a guided manner.

(4) Teacher using number chart and showing it to all children seated across the class using a
pointer.

FEAT-1 3 F==1 1 FAAT T FF 7 qFATOON F v g FeAferaa 7 7
FIA-AT T BE 1 0% I g ?

(1) forerp/AoTterT a==i F1 T F =9 H oF7 0 d7 Iz [0 H I3
FLATT |

(2) m==t &1 g o iy T ergwie ¥ A ag =t F T f% I Frerer
FETAT S AFAT 2 |

(3) Terer=r/TaTTareT o A=qal ST T2IT & £Fe, 209, HIdl s H1 STAE FY
S A== AT LT o Aegel 7 g A AqHiT 7 |
(4) Torer=/fATarFT 3% T2 FT ITANT F AT Thash (T527) FT ITANT F7d g
FATH 45 qHT =41 *1 =F@m |
[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]

3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

12) Lesson planning belongs to which phase of teaching ?
(1) Pre-active
(2) Interactive
(3) Post-active

(4) Interactive and Post-active

T AT FarenT 3 fo = o A £ 2
(1) Fr-ufT

(2) F=rufEa

(3) Frez-nfEE

(4) TeTUfEET AT TRE-UET

[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]



4. 4 [Option ID = 228]

13) A primary grade mathematics teacher distributes various circular cut-outs, rectangular strips to

different groups of students in her class. She then asks them to use the material and solve the
following question :

"Sum of which fractions would make % 2

Such questions :

1) should be discouraged as it leads development of misconceptions related to fractions
2) are too difficult for children to solve at this level

3) should be encouraged as it leads to multiple answers

e

4) should be discouraged as multiple answers have no place in mathematics

T ATITRE T A Tiore et A war § et F -t wgt w
TATH ZHe (Fe-AT3IeH), AATRIT GTAT qie TAT & | T9 T8 I q0 7
I F¥ AEAfer g Wed T g Fe il Fgal g

“F - e e 5 g 2

T T :

(1) 7 ZATHTTEA FLAT ATET FATH & el & Faferg qifaar it @ o 91 8
(2) 1 T FTAT T=A1 % TI0 287 AL T FeATEH Fisq g

(3) FT UTeATIET FHEAT ATRT (15 T AT STl il AL o T 8

(4) 7 ZATHTRT FTAT AT FHI1 v I 1 A(01d o FHlg o419 Al &

R

[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q58]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

14) The children in a mathematics class are given few wooden blocks for an activity. The children
came up with the following staternents :

“My Math book weighs more than 2 blocks but less then 3 blocks.”
"The weight of my pencil box is a bit less than 2 blocks.”

The purpose of the above activity is :

(1) to engage students in creative work while teacher is busy

(2) to strengthen the concept of addition of weights

(3) to introduce the concept of conversion of units to measure weight

(4) to form the base to introduce the concept of measurement of weights



et Frarerera i1 37 % for aior it Far F a==91 71 T TS 2we [/
T==1 7 MeAferfaT a9 gearad &

“HET AT Y TR G 2 TEel O AfAE e 3 EEEr awH e "
“HE UTH ST TG TFel F 2 2Fsi A TG FH 2 |7

ST AT FT 2T R
(1) EETTI=T &7 goTeH® F14 § 26 TEAT 9°F (909% =0 ¢
(2) ATET = AT T ATLTIO FT 33 FoAT

(3) AT ATIA & T THTEAT & TFaaT 6l AT F T=T FLATET
(4) AT HTIT T FATETTOT FHT OR=FT F 6 00 Arems a0

[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q59]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

15) Which of the following assessment techniques are nof part of Formative Assessment in
mathematics ?

(1) Portfolios
(2)
(3)

(4) Term-End Examination

Rubrics

QObservation

feaforfaa 5 7 aerere &1 FIa-HT T (6, T & THATHE AT w1 (geT
TR < ?

(1) FrERrferaT

(2) ==

(3) FTATHA

(4) FT=-F Tirar

[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_105_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- EVS_Q61-75_P1_CTET



DA person boarded a train on 6" September, 2022 at Ahmedabad for Thiruvananthapuram. The
train departed at 11:30 hours from Ahmedabad and reached Thiruvananthapuram at 3:00
hours on 8" September, 2022. If the distance covered by the train is 2277 kilometres, the

average speed of the train is

(1)60-5 km/h
(2)57-9 km/h
(3) 59-5 km/h
(4) 59-0 km/h

Fle ZIh AgHSETR | [qeadded o = [T 6 Faw7, 2022 7 &7 4 991
TAT | A 2 FgHETETE F 11:30 9 =AT A7 8 faaw=T, 2022 T 3:00

foeaa g ag=T | i 27 S =t g 2277 herteT g, 91 29 i s
1

(1) 60-5 km/h
(2) 579 km/h
(3) 595 km/h
(4) 59-0 km/h
[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_105_Q61]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]

4. 4 [Option ID = 244]

2) The teaching material for visually challenged students is in braille script. The braille script is
based on points/dots.

=2 T 7 giad FH=fEaan 5 for ser o #r afers a5 =7 F g7 B
STaT g | Jer AT e 2 [EEcC IR

(1)=m

(2)

(3) &3

(4=
[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_105_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]

3. 3 [Option ID = 247]
4. 4 [Option ID = 248]



3) Baoli refersto
(1) Well
(2) Stepwell
(3) Pond
(4) Stream

AAST T AT

(1) Tt
(2) HiZE T4t
(3) ATATE

(4) FTAT

[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_105_Q63]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4) The process of cooling due to evaporation is slow when the area of water surface in contact
with the atmosphere

(1) increases and the humidity (water vapour) in air is high.
(2) increases and the humidity (water vapour) in air is low.
(3) decreases and the humidity (water vapour) in air is low.
(4)

4) decreases and the humidity (water vapour) in air is high.

ATSTH % R0 Afrqers st T 7o T 2ret g & AgHEe § 5§ F G T
T A=A
(1) F24T g AT a1 | FHT (Saareq T J137) ATEF S0 2 |
(2) FZaT g &7 F § FH (SerareT Fir /A7) FH gral g |
(3) =EAT 2 AT AT H FHT (Serareq FY HT=AT) FH gl 2 |
(4) =F=ZaT g & a1 | FHT (Saareq =¥ q1=A7) A8+ Zreiv 2 |
[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_105_Q64]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]

3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

5) A teacher is displaying different vegetables with their edible parts. For garlic, she displays its
(1) Bulb
(2) Root
(3) Seed
(4) Rhizome



+ fore, ag lREmdr g

(1) ==
(2) 9=
(3) st
(4) TS

[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_105_Q65]
1 [Option ID = 257]
. 2 [Option ID = 258]
3 [Option ID = 259]
. 4 [Option ID = 260]

AW N =

6) Millennium Development Goals with the aim of international development were replaced by
which of the following in the United Nations General Assembly in the year 2015 ?

(1) Environment development Goals
(2) Gender equality Goals

(3) Sustainable development Goals
(4) Social development Goals

TT 2015 |, HIFT T AGEAT F dAvr T Hww 32w agertes G
&l F1 Meateriaa § 7 56 et grar fEeenfua @& a3 ar 2

(1) wataToiy e aeT

(2) TerT JHTaAT 7o

(3) arreofter FEshrey @e T

(4) FrraTiST T e
[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_105_Q66]
1 [Option ID = 261]
2 [Option ID = 262]

. 3 [Option ID = 263]
4 [Option ID = 264]

A W N -

7) Theterm ‘oil’ is used for which of the following ?

(1) Petrol and crude oil
(2) Diesel and petrol
(3) Crude oil and diesel

(4) Petrol, diesel and crude oil



feaforfaa & 7 s o o2 9o 9937 gar g 2

(1) TETeT ST F=aT qT

(2) FreTeT AT U2

(3) F=AT T AT T

(4) TZTeT, ST AT F=dAT a
[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_105_Q67]
1 [Option ID = 265]
2 [Option ID = 266]

3 [Option ID = 267]
4 [Option ID = 268]

A wN =

8) Select from the following a pair of Union Territories of India :

(1) Nagaland and Arunachal Pradesh
(2) Lakshdweep and Chandigarh

(3) Delhi and Uttarakhand

(4) Ladakh and Mizoram

LR L e e B 7 2 B 1 R e A LA
(1) ARTTATE ST FEOT=T T390

(2) BT HT TR

(3) et T gTmETe

(4) =T &7 e

[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_105_Q68]

1. 1 [Option ID = 269]

2. 2 [Option ID = 270]

3. 3 [Option ID = 271]

4. 4 [Option ID = 272]

9) Which of the following statements is/are frue regarding 'Watershed Management’ ?
A. Conservation of groundwater and surface water
B. Canbe handled at an individual level
C. Allocation of funds is needed to plan

D. Framing of watershed policy for conserving water

1) AandB
2)A,CandD
3)A,BandC

(
(
(
(4) Only A



Feaforfed § & F19-a7F F97 S aaTss 6T 959 7 agie/s ?
A. STETT T9T Adgl STeT Tl T

B. =ATTRITd ¥0T 97 HETAT T TFHAT 8

C. FIoAT 4T & T WMTR/HT % srded a1 e

D. S % T g TATATToTH qITH T T T Ferl
(1)A#TB

(2)A, C & D

(3)A, B C

(4)'?;lﬁ?fl'A

[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_105_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10) Which of the following is the National Tree of India ?
(1) Peepul Tree
(2) Neem Tree
(3)Banyan Tree
(4) Kadamba Tree

e 5 & HIA-A7 9 H7 AT A g ?

(1) e =7 74
(2) F FT A
(3) ATTE FT A

(4) 7= FTTA

[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_105_Q70]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11) Changpa is:
(1) A tribe living in cold deserts
(2) A tribe living on the mountains
(3) A tribe living in plateau region

(4) A tribe living near rivers



bt ]

=TT

(1) 38 TR & FaTe F99 ATt U% S

(2) Tgret o HETT F T ATt uE seeria

(3) T5TT &5 § e F7d ATeAT Teh SAASia

(4) A= T FHTT T ATAT UF A

[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_105_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]

3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

ally

12) With respect to the location of the Capital of India, the direction of Chandigarh (Capital of
Punjab) and Dehradun (Capital of Uttarakhand) respectively are
(1) North-east and North-west
(2) South-east and North-east
(3) North-west and North-east
(4) South-west and North-west
qTed # TrSET Aw Rata F Ay FuEng (IS Hr TS T IgIE
(STTTETE HT TSI FT =ome w7 g

(1) TTZ-TF &liT I

(2) =T T IE-1A

(3) ST & 39-14

(4) FFET-aTET @ ST

[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_105_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13) The important factor contributing to "substance abuse’ is :

(1) The gender of the abuser
(2) Locality where they belong from growing tobacco
(3) Substances regularly used by other family members

(4) Climatic condition of the area



gAY HCH S TS F EIART § AREE AT

(1) SETTET FTT FTA FT T

(2) 7 751 &1 5 T AT § agl aIrg ST J04T g

(3) &= TfETT F TEEI T TR &7 Hatid T/ T
(4) &= At oAy v feafy

[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_105_Q73]
1 [Option ID = 289]
2 [Option ID = 290]
3 [Option ID = 291]
. 4 [Option ID = 292]

A wN =

14) Migration is an important concept in the social sciences. Emigration basically denotes which of
the following ?
(1) Movement from one country to another
(2) Movement from one urban region to anaother
(3) Movement out of a country
(4)

4) Movement into a country

AT FAsT & TAET 7% Ao SN § | ST g e §
e AR Farg ?

(1) T3 =97 7 FHL 397 H T FZAAT

(2) T ST & | ZAY ALl A § I ag9A1

(3) TF Z9T H qIZT AT TZAAT

(4) TF 39T F I AT qZAA1

[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_105_Q74]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

15) The place where the Changpas use to keep their sheep and goats is called :

(1) Rebo

(2) Lekha
(3) Shed

(4) Pen



o

g AT St AR ATHT HE TA FH(LAT TG I, FFATATE
(1) ==

(2) T

(3)dre

(4) T

[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_105_Q75]

A wN =

1 [Option ID = 297]
2 [Option ID = 298]
3 [Option ID = 299]
4 [Option ID = 300]

Topic:- EVS_Q76-90_P1_CTET

1) Which of the following terms describes the characteristics of an EVS teacher ?

A. Content transmitter
B. Learning facilitator
C. Co-learner
D. Behaviour transformer
E. Content transactor
(1)Aand B
(2)Aand E
(3)Band C
(4)Band D

Feaforfed o 7 F9-0 7% TaEe geaa {2 & R ewaret fit et #a 8

”
A. TETIEeg J=9F
B. wferTs "gwrawar
C. #g-ATRTHFAT
D. =HaEge =i awal
E. A=y @4
(1)A#TB
(2)AHTE
(3)B T C
(4)B & D

[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_105_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]



2) 'Buzz groups’in EVS teaching-learning process are to

(1) Check effects of noise pollution
(2) Assess the goals of EVS transaction
(3) Assign a small group an issue along with task to complete

(4) Reduce lack of interest in themes

EVS forerm-Sfamms g9 5 =5 798 FT 314A ¢

(1) &ate 95O F 41t 9% [{g= @

(2) EVS A¥ITET & %1 FT ATHed FieAT

(3) B1E THE FT F1F T 7 & ATA-H1T Irg, UF THEAT 247
(4) Tawat |/ s=f= 7 HT

[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_105_Q77]
1 [Option ID = 305]
2 [Option ID = 306]
3 [Option ID = 307]
4 [Option ID = 308]

A W N -

3) During a forest visit, Shima observed a brightly coloured flower plant. Shima requested her
teacher to pluck the plant for her garden. Teacher replied "Every beautiful flower and plant
should not be plucked. This is a rare plant and the species may be lost if all the students start
plucking the plant from the forest.” Teacher is trying to fulfil which of the following objectives of
EVS teaching ?

A. Developing an awareness about relationship between human beings and
environment.

B. Developing an awareness about environmental problems resulting due to
human activities.

C. Developing an awareness about conserving environment for human survival.

D. Developing a sense of responsibility to ensure appropriate actions to solve
environmental problems.

1)A, B and C
2)B, CandD
3)A, CandD

(
(
(
(4)A,BandD



ST FHOT F Z0 (99T F U THDIAT 34 et AT 9T =47 | fmT 7 @

FLATIF 7 Aq0g a1 & 7 395 9= F 0 39 91g &1 3978 | FeamT+

E (el ol el 2 O e R e e e el oo B e I L s bl o -

LTI T e freror F fAefortag § & B 92eT A Q0 FA A6

TATH T 7T ¢ ?

A. TTHF ¥ TATT0 F S FHET T AT F7 (257 |

B. #TA Famary T SUS ATell TATaeuiig queaTsl & A H
SRT=HAT 7 5 |

C. AT YoIltd F #Fad & ™0 9a3igeo F1 9=e" F59 Fif
ST T A |

D. TATERIT TR F AHTETE 2q Sr9d FIAATEr qieread Fed 7
o= % &ver T = |

(1A, B & C

(2)B,C&™D

(3)A, C & D

(4)A, B #T D
[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_105_Q78]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]

3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

4) In order to study an identified environmental issue which method would be most appropriate ?

(1) Interview method
(2) Observation method
(3) Problem-solving method

(4) Questionnaire method

et ofred Taavofi a9w= F aegae & o Fi9-o0r B aeem sugs g 2

(1) mreTERTe At

(2) st fAfe

(3) FHET-THTYTH ATE
(4) sy At

[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_105_Q79]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]



5) Revati wants to educate children about planting the seeds which they collected. Which of the
following resources should Revati use for this ?

(1) Community resources
(2
3

(
(4) Technology resources

Institutional resources

Natural resources

)
)
)
)

AAT F=AT A I G Hehterd A1l 1 @900 % a7 § forfara 741 =9ngdv g |
H oo w3t 1 =Atortaa § 7 6 S9rae1 57 I9G0 F9A1 JTg0 2

(1) ATHETET GHTET
(2) FEITTT HAETET
(3) AT HHIEA
(4) SRR HHTE

[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_105_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

6) Asking lots of questions to the students in EVS classroom

(1) makes students understand the concepts better
(2) engages them and improves discipline
(3) helps students realise the importance of the topic

(4) helps in differentiating between learners

EVS &A1 | TraAl § agd |17 997 T H
(1) BT T AT =l Iga< T9q &
(2) I FAT | @37 T2 ¢ aAT 9% dAqAEA F I AT 8
(3) BT F BT w1 Hg=x q9AT § 73 Herdr g
(4) BTt & AT qE A § aEE Werdi g
[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_105_Q81]
1 [Option ID = 321]
2 [Option ID = 322]

3 [Option ID = 323]
4 [Option ID = 324]

A wWw N =



7) Swami lives near a river. Due to heavy rains, water pipelines were damaged and drinking water
supply was interrupted. Swami’s father bought a water can. Swami asked his father, “Why do
we have to purchase canned water when so much water is flowing in the river around us 7"
What should Swami’s father do ?

(1) Tell Swami that during rainy season water gets contaminated and it is unsafe to drink such
water.

(2) Tell Swami that river water may contain bacteria, viruses and other parasites and may
cause diseases.

(3) Tell Swami that canned water is treated to make it clean and safe for drinking.

(4) Tell Swami to compare river water and canned water in a glass and observe the difference.

FATHT A1 % OTH TgaT g | 90 anieer F¥ J9g | T 60 Teaasd dfaued af
STl g AT UIsTer ATYfd STiad gl Sral g | SATHT & [9dr 977 7 e =08 2 |
FATHT o AT & AT 8, " AT I AT A4 § TAAT 9T 9 W@ e, v g
TTHT T e 41 @141 92aTl g 2" FATHE % (941 1 F97 F7497 FTg0 ?

(1) =TT | FgAT ATie0 B arfver ¥ 5198 § 9t wZ0d g §rar g & e
T ST {7518

(2) FaTHT & Fgar =Arfew 3 751 F Tt § strary, ey o der awsiEr g

(3) =ATHT & FgaT AT % Il F FF T 7@ IIET A IUAA T 6,
AT T g AT 98 I % o qeiee 2

(4) F=THT | Fgar A & a7 7E F I AT Ay F He q T 0w fe

T v FT gF4 T wih dq7 o |

[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_105_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

8) Effective discussion

(1) deviates from the main topic

(2) encourages participation

(3) involves criticism

(4) helps in identifying the best view

gaTaT EETe-ETst
(1) g FAuT & g2 Srar g
(2) FgaTirar 1 Iredtied Farg

(3) ATATHAT ATTHET FHTAT 2
(4) FaTaH AT A TgATT e ° HEE FRAT



[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_105_Q83]

1
2
3
4

9) Class-V planned to plant some plants in the school garden. Tessi suggested that the boys
should dig pits by taking mud out and the girls will water the plants. Kush objected, "Why can

. 1 [Option ID = 329]
. 2 [Option ID = 330]
. 3 [Option ID = 331]
. 4 [Option ID = 332]

girls not dig pits 7" How should the classroom teacher address this issue ?

(1) Tell the children that Tessi is right because boys are more stronger physically than girls.
(2) Tell the children that girls are more caring than boys hence they should water the plants.
(3) Tell the children to choose their role in planting plants according to their choice.

(4) Tell the children to discuss what girls and boys should do and why they think so.

FerT-V 7 Bermers s=ne ® F 0d @ i Treer a9re | 269 T aEy G e

T T TR =Ly FIT gU KT, “ASCAAT T FAT T2l GIE THAT |7 T

ALATTH KT 29 H2 H1 H4 Gadd FAT AT20 ?

(1) F==1 = FgAT ATy, (% 221 TGl & FAM+H qgh Aiadl o s = F

(2) F==1 & Fgar Az & At ae=wi T ST &2 Tt § g 39 ot
ITET T T 29T AR |

(3) T=AT |/ FgdT ATRT 4 & ATAT TR & ATATE UTE T F FIAT TIHFT F7
GET A

(4) F=AT 7 FgAT ATy 5 T 7 T2 AT T2 (& ASH AT ASHAT AT FAT FHIAT
=TT & 7 THT AT 7= 2 |

[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_105_Q84]

1
2
3.
4

. 1 [Option ID = 333]
. 2 [Option ID = 334]
3 [Option ID = 335]
. 4 [Option ID = 336]

10) ‘Comprehensive’ in Continuous and Comprehensive Evaluation refers to

(1) both scholastic and non-scholastic areas of a student's growth
(2) regularity in assessment
(3) identifying learning difficulties

(4) evaluation of co-curricular activities



R T =T T | S A A
(1) et g At dfers aar fe-dfem T gl F A= |
(2) e § fRataaar
(3) Hie T FHEATAT HT TZA
(4) TE-aTEITHT RaTsarat #1 i
[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_105_Q85]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]

3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

11) Which of the following are the process skills of Environmental Studies ?
A. Enlisting facts

Questioning

Hypothesizing

Experimenting

Reaching final conclusion

Dialogue

O mMmmoow

Changing conclusion based on observation
H. Analysis of data

(1)B, D, F, G and H
(2)A,B,C,Dand E
(3)A,C, D, Fand G
(4)A, D, E, F and H

(B T e e 1 B 2 2 o o B o 2 P T e 7
T it AT AT
TATA ST
R AT
TEIETOT FEAT
FAATHA F AT U7 =T § afigas
H. #t&si =1 Fee™gor F2Ar

G mmoom P

(1)B, D, F, G & H
(2)A,B,C,DHTE
(3)A,C, D, F#= G
(4)A, D, E, F #iTH



[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_105_Q86]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

12) For EVS teaching, effective teaching-learning material

(1) needs to be costly
(2) should be made by teachers themselves
(3) needs to be learner-centred

(4) should be impersonal

EVS 7 fareror gq, wemat foreror-siferm amaft

(1) AT AT ATRY

(2) ferer=nt ETeT =% qATE AT AR

(3) r=r-Fiwsa gt AT

(4) srrfeRe gt 10
[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_105_Q87]
. 1 [Option ID = 345]
. 2 [Option ID = 346]

1
2
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

13) A teacher asked students to bring seeds to teach, "How seeds grow into plants.” Soha and
Tara brought different sized mustard seeds. Soha’s seeds were bigger than Tara's seeds.
Teacher asked students, "Which seeds will grow bigger plants 7" Which of the following
response of students will be suitable ?

(1) Bigger sized seeds will grow bigger plants.

3

)
(2) Smaller sized seeds will grow smaller plants.
(3) Big and small sized seeds will grow same sized plants.
(4) Seeds must be sown to observe which seeds will grow bigger plants.

sreATa F Rt i A ' O 9 ST 817 R o e o v A
HIET $f¥ AT ATI-AT ATHTT 5 AT 6 411 AT | FIGT & ST AT & Srfl o
T AHE F T | AT § Fenten 7 o=@y, we-a e 38 e & 0
aama 27 FEntEt i Rt § F f9- gt s gun ?

(1) F= AT % AT T T2 98 T

(2) BNE AT F ATAT F Fle G 99T |

(3) T ST I ATHIL 5 AT F TH ST ATHIT & T08 A |

(4) ST =T &7 T F@AT TSI 1% Fe-0 ST F T 98 9097 |

[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_105_Q88]

1. 1 [Option ID = 349]
2. 2 [Option ID = 350]




3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

14) Importance of practical work at primary level

(1) clearly focuses on outcome of the practical work
(2) helps to retain information for a longer time
(3) enhances teacher’s role in learning

(4) enhances affective domain of students

TTATHF ¥47 97 WA NS 1 7 987

(1) TATTTERS F1 % Moy 97 ¥7% ®9 § Hixd g[™l

(2) STT=TET T e HHT T T TG F HglI® gl

(3) Himaer it wizrar F forersn it =T Fr F@1ar 347

(4) TTET % ATATCHE &3 Tl ATaT 247
[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_105_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]

3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

15) Shabana was conducting an activity to teach classification. She asked her students to place
things in different groups.

Riddhi placed knife and apple together in one group. What should Shabana do ?

(1) Tell Riddhi that knife is 2 metal and must be placed along with other metals.

(2) Tell Riddhi that apple is a fruit and must be placed along with other fruits.

(3) Tell Riddhi that she has placed knife and apple together in one group, which is wrong.
(4) Ask Riddhi to explain why she has placed knife and apple together in one group.

AT AT 9g % oo uw wfafata d=nfem 57 80 ff | 999 ame

TA=ITT ot 1 a&q &l F1 =9~ T9g1 § @9 F1 Fg7 |

Ff& & =g o7 O 7 UF T3 g F T | A= F T FAT FLAT I 2

(1) " & e ATy &% =% &g g T a7 €l = J7T = S AT |

(2) T&iE & Fgar =iRn & ¥ wer g T d= oAl F A0 T S A |

(3) ’fE & wgam =1few % Saw =1%o ¥ &1 UF A7 UF 74g 9 ™1, &
T 2 |

(4) Tz & wgar =gy & a1 7g qaz0 & 399 =% T 99 F1 uF a9y H
T AT |

[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_105_Q90]

1. 1 [Option ID = 357]

2. 2 [Option ID = 358]

3. 3 [Option ID = 359]
4. 4 [Option ID = 360]



Topic:- ENG_Q91-99_L1_P1_CTET

1) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

“Pandemic” is a household word today. According to Merriam-Webster’s dictionary, it was the
most searched word in 2020 and was declared the word of the year — thanks to COVID-19,
the latest, but not the last, pandemic that humanity encounters.

A disease outhreak across continents and spreading globally is a pandemic. Hundreds of them
have “plagued” humankind down the millennia, and we have records of major outbreaks such
as “The Plague’. The three plague pandemics over different regions and periods, killed as
many as 350 million people approximately. This was followed by seven major outbreaks of
cholera, five of influenza, and three of Coronavirus, including the latest.

How and when do pandemics criginate ? There is enough evidence to suggest that infections
of pandemic proportions emerged when the hunter-gatherer, nomadic tribes transitioned into
more sedentary agrarian settlers. By a rough estimate, infectious diseases could have
emerged only within the past 11,000 years following the rise of agriculture. For infections to
spread and sustain, it needed large groups of population. Such settlements were unheard of in
history before the advent of agriculture. Such diseases were earlier called “crowd diseases”.
The twin disease burden that humanity faces — communicable diseases such as influenza,
chicken pox and non-communicable diseases such as hypertension, diabetes and cancer owe
their origin to a great extent to this transition of man from hunter-gatherer to agriculturist. To
put it simply, the growth of civilisation is the root cause of diseases.

Maost microbes which cause diseases were originally colonising animals. For a disease to
establish as a pandemic, complex movements of animal-human transmission are involved.
This again was facilitated when the agrarians domesticated animals such as goats, cows,
horses and pigs. In the process of milching, riding, ploughing they established longer and
closer nearness which made such animal-to-human transmission possible.

“Pandemic” became a household word because
(1) it was the most searched/used word in 2020.
(2) it was declared word of the year.

(3) of COVID-19.

(4) of humanity encounters.

[Question ID = 91][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q91]

1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3.

4. 4 [Option ID = 364]

3 [Option ID = 363]



2) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

“Pandemic” is a household word today. According to Merriam-Webster’s dictionary, it was the
most searched word in 2020 and was declared the word of the year — thanks to COVID-19,
the latest, but not the last, pandemic that humanity encounters.

A disease outbreak across continents and spreading globally is a pandemic. Hundreds of them
have “plagued” humankind down the millennia, and we have records of major outbreaks such
as “The Plague’. The three plague pandemics over different regions and periods, killed as
many as 350 million people approximately. This was followed by seven major outbreaks of
cholera, five of influenza, and three of Coronavirus, including the latest.

How and when do pandemics originate ? There is enough evidence to suggest that infections
of pandemic proportions emerged when the hunter-gatherer, nomadic tribes transitioned into
more sedentary agrarian settlers. By a rough estimate, infectious diseases could have
emerged only within the past 11,000 years following the rise of agriculture. For infections to
spread and sustain, it needed large groups of population. Such settlements were unheard of in
history before the advent of agriculture. Such diseases were earlier called “crowd diseases”.
The twin disease burden that humanity faces — communicable diseases such as influenza,
chicken pox and non-communicable diseases such as hypertension, diabetes and cancer owe
their origin to a great extent to this transition of man from hunter-gatherer to agriculturist. To
put it simply, the growth of civilisation is the root cause of diseases.

Most microbes which cause diseases were originally colonising animals. For a disease to
establish as a pandemic, complex movements of animal-human transmission are involved.
This again was facilitated when the agrarians domesticated animals such as goats, cows,
horses and pigs. In the process of milching, riding, ploughing they established longer and
closer nearness which made such animal-to-human transmission possible.

Which epidemic has been described to have killed the maximum number of people ?

(1) the three plagues
(2) seven attacks of cholera
(3) five attacks of influenza

(4) COVID-19

[Question ID = 92][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q92]

1. 1 [Option ID = 365]
2. 2 [Option ID = 366]
3.

4. 4 [Option ID = 368]

3 [Option ID = 367]



3) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

“Pandemic” is a household word today. According to Merriam-Webster’s dictionary, it was the
most searched word in 2020 and was declared the word of the year — thanks to COVID-19,
the latest, but not the last, pandemic that humanity encounters.

A disease outbreak across continents and spreading globally is a pandemic. Hundreds of them
have “plagued” humankind down the millennia, and we have records of major outbreaks such
as “The Plague’. The three plague pandemics over different regions and periods, killed as
many as 350 million people approximately. This was followed by seven major outbreaks of
cholera, five of influenza, and three of Coronavirus, including the latest.

How and when do pandemics originate ? There is enough evidence to suggest that infections
of pandemic proportions emerged when the hunter-gatherer, nomadic tribes transitioned into
more sedentary agrarian settlers. By a rough estimate, infectious diseases could have
emerged only within the past 11,000 years following the rise of agriculture. For infections to
spread and sustain, it needed large groups of population. Such settlements were unheard of in
history before the advent of agriculture. Such diseases were earlier called “crowd diseases”.
The twin disease burden that humanity faces — communicable diseases such as influenza,
chicken pox and non-communicable diseases such as hypertension, diabetes and cancer owe
their origin to a great extent to this transition of man from hunter-gatherer to agriculturist. To
put it simply, the growth of civilisation is the root cause of diseases.

Most microbes which cause diseases were originally colonising animals. For a disease to
establish as a pandemic, complex movements of animal-human transmission are involved.
This again was facilitated when the agrarians domesticated animals such as goats, cows,
horses and pigs. In the process of milching, riding, ploughing they established longer and
closer nearness which made such animal-to-human transmission possible.

When did humankind begin to become civilised ?

(1) with the industrial revolution
(2) with the invention of automobiles
(3) with the beginning of agricultural settlements

(4) with inter continental travelling

[Question ID = 93][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q93]

1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3.

4. 4 [Option ID = 372]

3 [Option ID = 371]



4) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

“Pandemic” is a household word today. According to Merriam-Webster’s dictionary, it was the
most searched word in 2020 and was declared the word of the year — thanks to COVID-19,
the latest, but not the last, pandemic that humanity encounters.

A disease outbreak across continents and spreading globally is a pandemic. Hundreds of them
have “plagued” humankind down the millennia, and we have records of major outbreaks such
as “The Plague’. The three plague pandemics over different regions and periods, killed as
many as 350 million people approximately. This was followed by seven major outbreaks of
cholera, five of influenza, and three of Coronavirus, including the latest.

How and when do pandemics originate ? There is enough evidence to suggest that infections
of pandemic proportions emerged when the hunter-gatherer, nomadic tribes transitioned into
more sedentary agrarian settlers. By a rough estimate, infectious diseases could have
emerged only within the past 11,000 years following the rise of agriculture. For infections to
spread and sustain, it needed large groups of population. Such settlements were unheard of in
history before the advent of agriculture. Such diseases were earlier called “crowd diseases”.
The twin disease burden that humanity faces — communicable diseases such as influenza,
chicken pox and non-communicable diseases such as hypertension, diabetes and cancer owe
their origin to a great extent to this transition of man from hunter-gatherer to agriculturist. To
put it simply, the growth of civilisation is the root cause of diseases.

Most microbes which cause diseases were originally colonising animals. For a disease to
establish as a pandemic, complex movements of animal-human transmission are involved.
This again was facilitated when the agrarians domesticated animals such as goats, cows,
horses and pigs. In the process of milching, riding, ploughing they established longer and
closer nearness which made such animal-to-human transmission possible.

Study the following statements :

(a) Hunters and gatherers were responsible for the spread of infectious diseases.
(b) Nomadic tribes were sedentary in their living.

(c) Diabetes and cancer are not contagious.

1) (a) and (b) are correct but (c) is incorrect

(

(2) (b) and (c) are correct but (a) is incorrect
(3) (a) and (c) are correct but (b) is incorrect
(

4) (a) and (b) are incorrect but (c) is correct

[Question ID = 94][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q94]

AN wnN -

1 [Option ID = 373]
2 [Option ID = 374]
3 [Option ID = 375]
4 [Option ID = 376]



5) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

“Pandemic” is a household word today. According to Merriam-Webster’s dictionary, it was the
most searched word in 2020 and was declared the word of the year — thanks to COVID-19,
the latest, but not the last, pandemic that humanity encounters.

A disease outbreak across continents and spreading globally is a pandemic. Hundreds of them
have “plagued” humankind down the millennia, and we have records of major outbreaks such
as “The Plague’. The three plague pandemics over different regions and periods, killed as
many as 350 million people approximately. This was followed by seven major outbreaks of
cholera, five of influenza, and three of Coronavirus, including the latest.

How and when do pandemics originate ? There is enough evidence to suggest that infections
of pandemic proportions emerged when the hunter-gatherer, nomadic tribes transitioned into
more sedentary agrarian settlers. By a rough estimate, infectious diseases could have
emerged only within the past 11,000 years following the rise of agriculture. For infections to
spread and sustain, it needed large groups of population. Such settlements were unheard of in
history before the advent of agriculture. Such diseases were earlier called “crowd diseases”.
The twin disease burden that humanity faces — communicable diseases such as influenza,
chicken pox and non-communicable diseases such as hypertension, diabetes and cancer owe
their origin to a great extent to this transition of man from hunter-gatherer to agriculturist. To
put it simply, the growth of civilisation is the root cause of diseases.

Most microbes which cause diseases were originally colonising animals. For a disease to
establish as a pandemic, complex movements of animal-human transmission are involved.
This again was facilitated when the agrarians domesticated animals such as goats, cows,
horses and pigs. In the process of milching, riding, ploughing they established longer and
closer nearness which made such animal-to-human transmission possible.

Study the following statements :

(a) Most viruses originally prospered on animals.

(b) From domesticated animals they transmitted to humans.
(1) (2) is correct and (b) is incorrect

(2) (b) is correct and (a) is incorrect

(3) Both (a) and (b) are correct

(4) Both (a) and (b) are incorrect

[Question ID = 95][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q95]

A wpN =

1 [Option ID = 377]
2 [Option ID = 378]
3 [Option ID = 379]
4 [Option ID = 380]



6) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

“Pandemic” is a household word today. According to Merriam-Webster’s dictionary, it was the
most searched word in 2020 and was declared the word of the year — thanks to COVID-19,
the latest, but not the last, pandemic that humanity encounters.

A disease outbreak across continents and spreading globally is a pandemic. Hundreds of them
have “plagued” humankind down the millennia, and we have records of major outbreaks such
as “The Plague’. The three plague pandemics over different regions and periods, killed as
many as 350 million people approximately. This was followed by seven major outbreaks of
cholera, five of influenza, and three of Coronavirus, including the latest.

How and when do pandemics originate ? There is enough evidence to suggest that infections
of pandemic proportions emerged when the hunter-gatherer, nomadic tribes transitioned into
more sedentary agrarian settlers. By a rough estimate, infectious diseases could have
emerged only within the past 11,000 years following the rise of agriculture. For infections to
spread and sustain, it needed large groups of population. Such settlements were unheard of in
history before the advent of agriculture. Such diseases were earlier called “crowd diseases”.
The twin disease burden that humanity faces — communicable diseases such as influenza,
chicken pox and non-communicable diseases such as hypertension, diabetes and cancer owe
their origin to a great extent to this transition of man from hunter-gatherer to agriculturist. To
put it simply, the growth of civilisation is the root cause of diseases.

Most microbes which cause diseases were originally colonising animals. For a disease to
establish as a pandemic, complex movements of animal-human transmission are involved.
This again was facilitated when the agrarians domesticated animals such as goats, cows,
horses and pigs. In the process of milching, riding, ploughing they established longer and
closer nearness which made such animal-to-human transmission possible.

‘Hundreds of them have plagued humankind.' The underlined wordisafan __ .
(1) Noun

(2) Pronoun

(3) Verb

(4) Adjective

[Question ID = 96][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q96]

1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3.

4. 4 [Option ID = 384]

3 [Option ID = 383]



7) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

“Pandemic” is a household word today. According to Merriam-Webster’s dictionary, it was the
most searched word in 2020 and was declared the word of the year — thanks to COVID-19,
the latest, but not the last, pandemic that humanity encounters.

A disease outbreak across continents and spreading globally is a pandemic. Hundreds of them
have “plagued” humankind down the millennia, and we have records of major outbreaks such
as “The Plague’. The three plague pandemics over different regions and periods, killed as
many as 350 million people approximately. This was followed by seven major outbreaks of
cholera, five of influenza, and three of Coronavirus, including the latest.

How and when do pandemics originate ? There is enough evidence to suggest that infections
of pandemic proportions emerged when the hunter-gatherer, nomadic tribes transitioned into
more sedentary agrarian settlers. By a rough estimate, infectious diseases could have
emerged only within the past 11,000 years following the rise of agriculture. For infections to
spread and sustain, it needed large groups of population. Such settlements were unheard of in
history before the advent of agriculture. Such diseases were earlier called “crowd diseases”.
The twin disease burden that humanity faces — communicable diseases such as influenza,
chicken pox and non-communicable diseases such as hypertension, diabetes and cancer owe
their origin to a great extent to this transition of man from hunter-gatherer to agriculturist. To
put it simply, the growth of civilisation is the root cause of diseases.

Most microbes which cause diseases were originally colonising animals. For a disease to
establish as a pandemic, complex movements of animal-human transmission are involved.
This again was facilitated when the agrarians domesticated animals such as goats, cows,
horses and pigs. In the process of milching, riding, ploughing they established longer and
closer nearness which made such animal-to-human transmission possible.

‘How and when do pandemics originate?’
Theaboveisalan__ clause.

(1) Principal

(2) Noun

(3) Adjective

(4) Adverb

[Question ID = 97][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q97]

A W N -

1 [Option ID = 385]
2 [Option ID = 386]
3 [Option ID = 387]
4 [Option ID = 388]



8) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

“Pandemic” is a household word today. According to Merriam-Webster’s dictionary, it was the
most searched word in 2020 and was declared the word of the year — thanks to COVID-19,
the latest, but not the last, pandemic that humanity encounters.

A disease outbreak across continents and spreading globally is a pandemic. Hundreds of them
have “plagued” humankind down the millennia, and we have records of major outbreaks such
as “The Plague’. The three plague pandemics over different regions and periods, killed as
many as 350 million people approximately. This was followed by seven major outbreaks of
cholera, five of influenza, and three of Coronavirus, including the latest.

How and when do pandemics originate ? There is enough evidence to suggest that infections
of pandemic proportions emerged when the hunter-gatherer, nomadic tribes transitioned into
more sedentary agrarian settlers. By a rough estimate, infectious diseases could have
emerged only within the past 11,000 years following the rise of agriculture. For infections to
spread and sustain, it needed large groups of population. Such settlements were unheard of in
history before the advent of agriculture. Such diseases were earlier called “crowd diseases”.
The twin disease burden that humanity faces — communicable diseases such as influenza,
chicken pox and non-communicable diseases such as hypertension, diabetes and cancer owe
their origin to a great extent to this transition of man from hunter-gatherer to agriculturist. To
put it simply, the growth of civilisation is the root cause of diseases.

Most microbes which cause diseases were originally colonising animals. For a disease to
establish as a pandemic, complex movements of animal-human transmission are involved.
This again was facilitated when the agrarians domesticated animals such as goats, cows,
horses and pigs. In the process of milching, riding, ploughing they established longer and
closer nearness which made such animal-to-human transmission possible.

‘There is enough evidence to suggest ....|
The underlined word means the same as :
(1) expression

(2) proof

(3) charge

(4) guess

[Question ID = 98][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q98]

A W N -

1 [Option ID = 389]
2 [Option ID = 390]
3 [Option ID = 391]
4 [Option ID = 392]



9) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

“Pandemic” is a household word today. According to Merriam-Webster’s dictionary, it was the
most searched word in 2020 and was declared the word of the year — thanks to COVID-19,
the latest, but not the last, pandemic that humanity encounters.

A disease outbreak across continents and spreading globally is a pandemic. Hundreds of them
have “plagued” humankind down the millennia, and we have records of major outbreaks such
as “The Plague’. The three plague pandemics over different regions and periods, killed as
many as 350 million people approximately. This was followed by seven major outbreaks of
cholera, five of influenza, and three of Coronavirus, including the latest.

How and when do pandemics originate ? There is enough evidence to suggest that infections
of pandemic proportions emerged when the hunter-gatherer, nomadic tribes transitioned into
more sedentary agrarian settlers. By a rough estimate, infectious diseases could have
emerged only within the past 11,000 years following the rise of agriculture. For infections to
spread and sustain, it needed large groups of population. Such settlements were unheard of in
history before the advent of agriculture. Such diseases were earlier called “crowd diseases”.
The twin disease burden that humanity faces — communicable diseases such as influenza,
chicken pox and non-communicable diseases such as hypertension, diabetes and cancer owe
their origin to a great extent to this transition of man from hunter-gatherer to agriculturist. To
put it simply, the growth of civilisation is the root cause of diseases.

Most microbes which cause diseases were originally colonising animals. For a disease to
establish as a pandemic, complex movements of animal-human transmission are involved.
This again was facilitated when the agrarians domesticated animals such as goats, cows,
horses and pigs. In the process of milching, riding, ploughing they established longer and
closer nearness which made such animal-to-human transmission possible.

‘To put it simply, the growth ...’

The underlined word is opposite in meaning to :
(1) variance

(2) decay

(3) taboo

(4) deliverance

[Question ID = 99][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q99]

A W N -

1 [Option ID = 393]
2 [Option ID = 394]
3 [Option ID = 395]
4 [Option ID = 396]

Topic:- ENG_Q100-105_L1_P1_CTET



1) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
One day there fell in great Benares' temple-court.
A wondrous plate of gold, whereon these words were writ;
‘To him who loveth best, a gift from Heaven.’
There at
The priests made proclamation: ‘At the midday hour,
Each day, let those assemble who for virtue deem
their right to Heaven's gift the best; and we will hear
the deeds of mercy done, and so adjudge.’
The news
ran swift as light, and soon from every quarter came
nobles and munshis, hermits, scholars, holy men,
and all renowned for gracious or for splendid deeds,
meanwhile the priests in solemn council sat and heard
what each had done to merit best the gift of Heaven.

Who gifted the plate of gold ?

1) It was donated by a rich man.

(
(2) It was a piece of offering to the deity.
(3) It was a boon from God.

(

4) It fell from the sky.

[Question ID = 100][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q100]
1 [Option ID = 397]
2 [Option ID = 398]
3 [Option ID = 399]
4 [Option ID = 400]

A w N =



2) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
One day there fell in great Benares' temple-court.
A wondrous plate of gold, whereon these words were writ;
‘To him who loveth best, a gift from Heaven.’
There at
The priests made proclamation: ‘At the midday hour,
Each day, let those assemble who for virtue deem
their right to Heaven's gift the best; and we will hear
the deeds of mercy done, and so adjudge.’
The news
ran swift as light, and soon from every quarter came
nobles and munshis, hermits, scholars, holy men,
and all renowned for gracious or for splendid deeds,
meanwhile the priests in solemn council sat and heard
what each had done to merit best the gift of Heaven.

The priests decided :

1) to go from place to place in search of the deserving person.

(
(2) to invite people to recite their acts of mercy.
(3) to draw a lottery among the devotees.

(

4) to use the gold to renovate the temple.

[Question ID = 101][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q101]
1 [Option ID = 401]
2 [Option ID = 402]
3 [Option ID = 403]
4 [Option ID = 404]

A w N =



3) Directions : Read the extract given below and answer the questions that follow by selecting the
correct/ most appropriate options.
One day there fell in great Benares' temple-court.
A wondrous plate of gold, whereon these words were writ;
‘To him who loveth best, a gift from Heaven.’
There at
The priests made proclamation; ‘At the midday hour,
Each day, let those assemble who for virtue deem
their right to Heaven's gift the best; and we will hear
the deeds of mercy done, and so adjudge.’
The news
ran swift as light, and soon from every quarter came
nobles and munshis, hermits, scholars, holy men,
and all renowned for gracious or for splendid deeds,
meanwhile the priests in solemn council sat and heard
what each had done to merit best the gift of Heaven.

Why did some ‘hermits’ ask for the gold plate ?

(1) Such hermits might have been fake hermits.
(2) They might have felt greedy.
(3) Such hermits might have been fake hermits and they might have felt greedy.
(4) They were living in and serving the society.
[Question ID = 102][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q102]
1 [Option ID = 405]
2 [Option ID = 406]

. 3 [Option ID = 407]
. 4 [Option ID = 408]

A w N =



4) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
One day there fell in great Benares' temple-court.
A wondrous plate of gold, whereon these words were writ;
‘To him who loveth best, a gift from Heaven.’
There at
The priests made proclamation: ‘At the midday hour,
Each day, let those assemble who for virtue deem
their right to Heaven's gift the best; and we will hear
the deeds of mercy done, and so adjudge.’
The news
ran swift as light, and soon from every quarter came
nobles and munshis, hermits, scholars, holy men,
and all renowned for gracious or for splendid deeds,
meanwhile the priests in solemn council sat and heard
what each had done to merit best the gift of Heaven.

‘as swift as light’
The figure of speech used hereis :

(1) Simile
(2) Metaphor
(3) Personification

(4) Hyperbole

[Question ID = 103][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q103]
1 [Option ID = 409]
2 [Option ID = 410]
3 [Option ID = 411]
4 [Option ID = 412]

A w N =



5) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
One day there fell in great Benares' temple-court.
A wondrous plate of gold, whereon these words were writ;
‘To him who loveth best, a gift from Heaven.’
There at
The priests made proclamation: ‘At the midday hour,
Each day, let those assemble who for virtue deem
their right to Heaven's gift the best; and we will hear
the deeds of mercy done, and so adjudge.’
The news
ran swift as light, and soon from every quarter came
nobles and munshis, hermits, scholars, holy men,
and all renowned for gracious or for splendid deeds,
meanwhile the priests in solemn council sat and heard
what each had done to merit best the gift of Heaven.

‘... let those assemble....’
The word opposite in meaning to the underlined word is :

(1) couple
(2) disperse
(3) raise

(4) organise

[Question ID = 104][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q104]
1 [Option ID = 413]
2 [Option ID = 414]
3 [Option ID = 415]
4 [Option ID = 416]

A wN =



6) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
One day there fell in great Benares' temple-court.
A wondrous plate of gold, whereon these words were writ;
‘To him who loveth best, a gift from Heaven.’
There at
The priests made proclamation: ‘At the midday hour,
Each day, let those assemble who for virtue deem
their right to Heaven's gift the best; and we will hear
the deeds of mercy done, and so adjudge.’
The news
ran swift as light, and soon from every quarter came
nobles and munshis, hermits, scholars, holy men,
and all renowned for gracious or for splendid deeds,
meanwhile the priests in solemn council sat and heard
what each had done to merit best the gift of Heaven.

'.... who for virtue deem’
The underlined word means the same as :

(1) believe
(2) prove
(3) describe

(4) function

[Question ID = 105][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q105]
1 [Option ID = 417]
2 [Option ID = 418]
3 [Option ID = 419]
. 4 [Option ID = 420]

A wN =

Topic:- ENG_Q106-120_L1_P1_CTET
1) Language is
(1) an artificial system.
(2) a rule-governed system.
(3) a grammatical system.
(4) a system which does have rules.

[Question ID = 106][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q106]
1 [Option ID = 421]
2 [Option ID = 422]
3 [Option ID = 423]
4 [Option ID = 424]

A W N -

2) What is India’s language-in-school education strategy known as ?

1) Multilingualism

3) Official language policy

(

(2) Three-language formula

(

(4) National Education Policy 2020



[Question ID = 107][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q107]
. 1 [Option ID = 425]
2 [Option ID = 426]
3 [Option ID = 427]
4 [Option ID = 428]

A W N -

3) A child moves from Patna to Mumbai. She has English as one of the languages in school and
she is able to learn Marathi with her interaction with peers and people from her neighborhood.
What do you understand by this ?

(1) Learning both the languages is language acquisition.

(2) English language learning is language acquisition and Marathi learning is language
learning.

(3) English language learning is language learning and Marathi learning is language
acquisition.
(4) Learning both the languages is language learning.

[Question ID = 108][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q108]
1 [Option ID = 429]
2 [Option ID = 430]
3 [Option ID = 431]
4 [Option ID = 432]

A wN =

4) Peter is a good reader in his mother tongue and he is able to read very well in English
language too. What is this known as ?

(1) Competency transfer

(2) Moving from familiar to unfamiliar
(3) Linguistic ability

(4) Skill transfer

[Question ID = 109][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q109]
1 [Option ID = 433]
2 [Option ID = 434]
3 [Option ID = 435]
4 [Option ID = 436]

AN wnN =

5) Ashish, a teacher of class-7 supplied a riddle to learners and divided them into groups of four.
Learners in groups of four have to solve the riddle by speaking out what they think. What is this
language learning strategy known as ?

1) Think aloud protocol

(

(2) Thinking to speak

(3) Speak aloud protocol
(

4) Problem-based speaking

[Question ID = 110][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q110]
1 [Option ID = 437]
2 [Option ID = 438]
3 [Option ID = 439]
4 [Option ID = 440]

AW N =



6) One major consideration while selecting a text for a textbook is that

1) The text should be from the life of the learner.

(
(2) The text should be in natural language and an authentic text.
(3) The text should be from the country where the learner lives.
(

4) The text should be from an appropriate genre.

[Question ID = 111][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q111]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

7) Which one of the languages is not a classical language ?

(1) Sanskrit

(2) Tamil

(3) Malayalam

(4) Hindi

[Question ID = 112][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q112]
1. 1 [Option ID = 445]

2. 2 [Option ID = 446]

3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

8) Knowledge about language is

1) Procedural knowledge

(

(2) Declarative knowledge

(3) Process-based knowledge
(

4) Grammar of a language

[Question ID = 113][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q113]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

9) Centrality of language is

1) recognizing that language plays a role in learning of content subject.

(

(2) recognizing that languages are learnt in isolation.

(3) recognizing that language and learning are interrelated.
(

4) recognizing that language is for communication and ideas do not need a language.

[Question ID = 114][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q114]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]



10) Portfolio assessment is

(1) recording of the learning by learners in the classroom.
(2) to find out where the learner lacks.
(
(

3) to support the annual board examination.

4) recording of all the learning acts of learners for assessment.

[Question ID = 115][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q115]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

11) Skimming is

1) reading for the overall meaning of the text.

3) reading the author’s intention.

(
(2) reading for specific information.
(
(4) reading beyond the text.

[Question ID = 116][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q116]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

12) Competency-based teaching enables

1) learners to focus on mastery of the content.

3) learners to function in society and at work.

(
(2) learners to become experts in the subject.
(
(4) learners to secure high percentage.

[Question ID = 117][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q117]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

13) Raghavan, teacher of class-8 divides the class into groups of five and assigns each one a
character and language input to speak in a conversation on a particular topic. What is this task
known as ?

(1) Think aloud protocol

(2) Role play

(3) Dramatics

(4) Language development

[Question ID = 118][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q118]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]



14) A teacher organizes her class in such a way that learners jot down points, make an outline,

write the first draft, improve it and write the final draft in the writing class. What strategy does
the teacher adopt here ?

1) Process-based learning

(

(2) Process approach to writing

(3) Product-based approach to writing
(

4) Writing for purposes

[Question ID = 119][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q119]
. 1 [Option ID = 473]
2 [Option ID = 474]
. 3 [Option ID = 475]
4 [Option ID = 476]

A W N -

15) Which one of the ways is effective for teaching of pronunciation ?

1) Teaching phonology to all learners

(
(2) Teaching through transcription of words and sounds
(3) lllustrating through contrastive pairs

(

4) lustrating with the correspondence between letters and sounds

[Question ID = 120][Question Description = CTET_P1_PART_4_L1_SET_105_ENGLISH_Q120]
1 [Option ID = 477]
2 [Option ID = 478]
3 [Option ID = 479]
4 [Option ID = 480]

A wN =

Topic:- HIN_Q121-128_L2_P1_CTET
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[Question ID = 421][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q121]
1. 1 [Option ID = 1681]
2. 2 [Option ID = 1682]
3. 3 [Option ID = 1683]
4. 4 [Option ID = 1684]
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[Question ID = 422][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q122]
1. 1 [Option ID = 1685]
2. 2 [Option ID = 1686]
3. 3 [Option ID = 1687]
4. 4 [Option ID = 1688]
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[Question ID = 423][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q123]
1. 1 [Option ID = 1689]
2. 2 [Option ID = 1690]
3. 3 [Option ID = 1691]
4. 4 [Option ID = 1692]
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[Question ID = 424][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q124]
1. 1 [Option ID = 1693]
2. 2 [Option ID = 1694]
3. 3 [Option ID = 1695]
4. 4 [Option ID = 1696]
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[Question ID = 425][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q125]
1. 1 [Option ID = 1697]
2. 2 [Option ID = 1698]
3. 3 [Option ID = 1699]
4. 4 [Option ID = 1700]
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[Question ID = 426][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q126]
1. 1 [Option ID = 1701]
2. 2 [Option ID = 1702]
3. 3 [Option ID = 1703]
4. 4 [Option ID = 1704]
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[Question ID = 427][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q127]
1. 1 [Option ID = 1705]
2. 2 [Option ID = 1706]
3. 3 [Option ID = 1707]
4. 4 [Option ID = 1708]
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[Question ID = 428][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q128]
1. 1 [Option ID = 1709]
2. 2 [Option ID = 1710]
3. 3 [Option ID = 1711]
4. 4 [Option ID = 1712]
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[Question ID = 429][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q129]
1. 1 [Option ID = 1713]
2. 2 [Option ID = 1714]

3. 3 [Option ID = 1715]
4. 4 [Option ID = 1716]
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[Question ID = 430][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q130]
1. 1 [Option ID = 1717]




2. 2 [Option ID = 1718]
3. 3 [Option ID = 1719]
4. 4 [Option ID = 1720]
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[Question ID = 431][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q131]
1. 1 [Option ID = 1721]
2. 2 [Option ID = 1722]
3. 3 [Option ID = 1723]
4. 4 [Option ID = 1724]
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[Question ID = 432][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q132]
1. 1 [Option ID = 1725]
2. 2 [Option ID = 1726]

3. 3 [Option ID = 1727]
4. 4 [Option ID = 1728]
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[Question ID = 433][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q133]
1. 1 [Option ID = 1729]




2. 2 [Option ID = 1730]
3. 3 [Option ID = 1731]
4. 4 [Option ID = 1732]
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[Question ID = 434][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q134]
1. 1 [Option ID = 1733]
2. 2 [Option ID = 1734]
3. 3 [Option ID = 1735]
4. 4 [Option ID = 1736]
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[Question ID = 435][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q135]
1. 1 [Option ID = 1737]
2. 2 [Option ID = 1738]

3. 3 [Option ID = 1739]
4. 4 [Option ID = 1740]

Topic:- HIN_Q136-150_L2_P1_CTET
") AT T AT FAT FgeATdl g ?
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[Question ID = 436][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q136]
1. 1 [Option ID = 1741]
2. 2 [Option ID = 1742]
3. 3 [Option ID = 1743]
4. 4 [Option ID = 1744]

2) T5-|T9T T F I29T FATG ?
(1) TATITATT AT ATTATIT FHT FTHHAT FLAT
(2) FE=rmers | T 9TuTaAr T THET HOAT
(3) TBr=t = SAsTT & |rg-ary forerfigy & |rar =1 aea F7A7
(4) 7T Fi AT ATt i wfEe = 7 daar

[Question ID = 437][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q137]



1 [Option ID = 1745]
2 [Option ID = 1746]
3 [Option ID = 1747]
4 [Option ID = 1748]

3) T, FET TF T ALATAHT FAT § o319l (9@ 5 o Fam § F2 a5gq0
AT § A THAT FAT F AT % AT 39 Tq A0 o 9 (2977 F ATt 97
FTT FTAT & | IAF BT FAT | ToA9Te il o7 T2l Teqall #f %9 &7 F [T
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(1) ToreqmT AT A
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(4) Toraarai-Fiesa srfaeTy

[Question ID = 438][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q138]

1. 1 [Option ID = 1749]

2. 2 [Option ID = 1750]

3. 3 [Option ID = 1751]
4. 4 [Option ID = 1752]

4) T AT T THMATL-T T T o=t | I5=ramE it @97 Jgar g | 39T
TOrATIERT =61 T T9T AT #97 %1 &4\ | Tad g0 94 T5I-AIT T
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(1) Faeg di AT =7 F AT
(2) A= #t Fga
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(4) FTHTeT ST AT FEET

[Question ID = 439][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q139]
1. 1 [Option ID = 1753]
2. 2 [Option ID = 1754]
3. 3 [Option ID = 1755]
4. 4 [Option ID = 1756]

5) qTEATT | Ht ATSAT ATIAT & ATATE T T ATITSAT FHT HAT &1 1% 2 2

(1)22

(2) 221

(3)16

(4)18
[Question ID = 440][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q140]
1. 1 [Option ID = 1757]
2. 2 [Option ID = 1758]

3. 3 [Option ID = 1759]
4. 4 [Option ID = 1760]
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(4) =TT ST
[Question ID = 441][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q141]
1. 1 [Option ID = 1761]
2. 2 [Option ID = 1762]

3. 3 [Option ID = 1763]
4. 4 [Option ID = 1764]

7) TEET ITEEAT § AT Fiea o B A A ag= wear g ?
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(3) Forear F38r & srearTorsh 7 ST AT F AT UT £ I A T A2 g
(4) TEr=merT F ST T AUEAT A7 A AT At qgeETm g |
[Question ID = 442][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q142]
1. 1 [Option ID = 1765]
2. 2 [Option ID = 1766]

3. 3 [Option ID = 1767]
4. 4 [Option ID = 1768]

8) TAT T STTH ATHT F G597 F HI9-A7T T2T qgr e ?
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[Question ID = 443][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q143]
1. 1 [Option ID = 1769]
2. 2 [Option ID = 1770]

3. 3 [Option ID = 1771]
4. 4 [Option ID = 1772]
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[Question ID = 444][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q144]

1. 1 [Option ID = 1773]
2. 2 [Option ID = 1774]




3. 3 [Option ID = 1775]
4. 4 [Option ID = 1776]
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[Question ID = 445][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q145]
1. 1 [Option ID = 1777]
2. 2 [Option ID = 1778]
3. 3 [Option ID = 1779]
4. 4 [Option ID = 1780]
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[Question ID = 446][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q146]
1. 1 [Option ID = 1781]
2. 2 [Option ID = 1782]

3. 3 [Option ID = 1783]
4. 4 [Option ID = 1784]
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[Question ID = 447][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q147]
1. 1 [Option ID = 1785]
2. 2 [Option ID = 1786]
3. 3 [Option ID = 1787]
4. 4 [Option ID = 1788]
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[Question ID = 448][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q148]
1. 1 [Option ID = 1789]
2. 2 [Option ID = 1790]
3. 3 [Option ID = 1791]
4. 4 [Option ID = 1792]

14) T AEATIOT HAT % (A=At 7 9=-0T F °96g § Atedr g | 98 I T
A &7 zif® 39T § | Bt 1 29 ofiw & Zif0s 97 ageqs = w7
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[Question ID = 449][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q149]

1. 1 [Option ID = 1793]

2. 2 [Option ID = 1794]

3. 3 [Option ID = 1795]
4. 4 [Option ID = 1796]

15) A AT FATE ?
(1) st s wrenfEhr it foray #1 ageT # F Fo g aga g
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[Question ID = 450][Question Description = CTET_P1_PART_5_L2_SET_105_HINDI_Q150]
1. 1 [Option ID = 1797]
2. 2 [Option ID = 1798]

3. 3 [Option ID = 1799]
4. 4 [Option ID = 1800]






